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N.B. :— () All questions are compulsory.

(iz) All questions carry equal marks.

(zi1) Negative marks for wrong answers only for MCQ.
() W WA AEE .

(i) @E WAAT GEE O SR

(iii) TehT=A SUCHAT THhRIcHS 01 Ted MCQ HIer 3.

MCQ 10
1. Who was started permanent settlement system ?
(A) Lord Wellesley (B) Lord Dalhousie
(C) Lord Cornwallis (D) Warren Hastings
FEAEN U5 0 F& Hol ?
A oS T (B) o ToRMl
(C) TIE FHHaAH (D) arF e
2. Who started Ryotwari System in Madras State ?
(A) Thomas Munro (B) John Shore
(C)  Lord Cornwallis (D) Warren Hastings
TS A WAl 9Sdl hivl gE %ol ?
(A  9mE ' (B) WM FMeR
(C) TS FHaTSH (D) % &R

P.T.O.
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Which economic policy accepted by British Govt. in India ?
(A)  Open door policy (B)  Close door policy
(C) Defence policy (D) None of these
foIfesT ThR §N YRAW iV T &R0 sTaeas o ?
(A) HHGR &R (B) ®EgR HRW
(C) &I &R0 (D) T AR
When did England decide to make ‘Business Investments’ in India ?
(A) 1772 AD. (B) 1785 A.D.
(C) 1813 AD. (D) 1858 A.D.
TOS YRAW IR T[qave HvdrEn g desl e ?
(A) 39 1772 (B) 349 1785
(C) 249 1813 (D) 3.9 1858
In which phase do you find the progress of Indian Tea Industry ?
(A) After 1772 (B) After 1813
(C)  After 1580 (D) None of these
ORI =8l SNl fae shegl @l ?
(A) 38 1772 TR (B) 3.9 1813 T
(C) 39 1580 TR (D) @t AT
What was the decrease of Charleswood related :
(A)  Regional self-rule (B)  Juridical administration
(C)  Education (D) None of these
‘I gear feal’ FRmEi gadid e ?
(A) TR =T (B) <& WA
(C) Fram (D) AT RN

.................... was the effect of uprising of 1857.
(A) Demolished of East India Company
(B)  Queen’s Manifesto

(C)  Decline of Mughal Empire

(D) All of the above

1857 = W q-ﬁ-um @?" ............ .

A) IR Ifem Ul T9Ee SREm

(B)  uiten e

(C) HIS U=l I

D) o T
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The Uprising of 1857 was nothing but the ‘crowd of soldiers’. Whose opinion
was this ?

(A) N. R. Phatak (B) V. D. Savarkar

(C) Jadunath Sarkar (D) Setu Madhavrao Pagadi
1857 =1 3o/ ®US RE Tl B § " HIOE SR ?

(A) . T HREH (B) fa. 1. G

(C)  SIgT¥ TR (D) oY HHEE TE!

What changes did the British made in Agriculture in India ?
(A) Business Trading in Agriculture

(B) Industrialization of Agriculture

(C)  Agriculture Development

(D)  Introduction of New Technology in Agriculture

TUSH 9RA 3 HEd S0 960 6o 2

(A) I TR (B) INi= STEifiTeR
(C)  Fciten foremrH (D) 3 HeE TR

Which one of the following is the main reason for the decline of the Small
Scale Industries in India ?

(A) Imports things from England

(B) Growth Prizes

(C)  More benefits from Agricutlure

(D) Increase of Taxes

ARAN® @8 IUNTA Ja< ¢ J9@ SR B :
(A) TOESHYA MM I&

(B) foudt 7ed A

(C) INIMYS qaAideh T

(D) X d@

Theory
Explain the effects of De-industrialisation. 10
FTATTRTOTE qRUMH T .
Or
(fenam)
Write the causes of uprising of 1857.
1857 =1 3Io@THt ®RU @l

P.T.O.
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Explain the education system of Charleswood.
TcHgedr R SEeer W &
Or
(fenam)
Write the causes of commercialisation of Agriculture.
TIdr=a AR ®RO fogl
Write short notes on (any two) :

@) Ryotwari

@) Industrialization

(zii)  Macaulay Plan (1835)
(fv)  British Trade.

e fem fomr (ivmE g9)

() R
(i)  SirEnfieo
(iii) Hehle dsHr (1835)
(Gv) TIfETRSHE =R,
OR
(feram)

(History of Maratha : 1630 to 1707 A.D.)

— (@) All questions are compulsory.

(i) All questions carry equal marks.

(ii1) Negative marks for wrong answers only for MCQ.
() W WA AEE .

(i) @d WAA GEE O SR

((ii) R IAUA THRAS [0 e MCQURS 2.

MCQ
Chhatrapati Shahu was in ........cc......cco.... imprisonment.
(A)  Adilshah (B)  Kutubshaha
(C)  Mughals (D) Nizam
@—;rq?ﬁ- ﬂl—g\ .................... =0 Eﬁaﬁ —Eﬁﬁ
(A) iRl (B) I

(C) 9o (D) =W

10

10

10
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First Bajirao Peshwa died at .................... .

(A)  Pune (B) Raver

(C)  Nashik (D) Satara

qi\swl ql\ﬂ"l{lq W W ............... -aa w

A) 9o (B) TR

(C) R D) HE«

What was the name of Balaji Bajirao’s father ?

(A) Balaji Vishwanath (B) Raghunathrao
(C) Bajirao First (D) Madhavrao First
TBTSI SSIRETAT qeiad A1d hid ald 2

(A)  Sresrst faay (B)  TAIEEE

(C)  arsire ufgen (D) HIEERE Ufge
Who defeated first Madhavrao at Alegaon ?

(A) Raghunathrao (B) Malharrao Holkar
(C) Haider Aali (D) None of these
HIME JY qfged AEUE=l qUWe v el ?

(A) gTEE (B) HeERUA Blodeh
(C) T (D) AT A

Who built the Raigad Fort ?

(A)  Shahaji Bhosale (B)  Shivaji Maharaj
(C)  Adilshah (D)  Kutubshaha
e fhew wIvl diger ?

(A) IR HS B) frast wers

(C)  sMfqe=Tal (D) SRR

Who built the Shaniwar Wada ?

(A) Balaji Vishwanath (B) Sambhaji Maharaj
(C) Balaji Bajirao (D)  Bajirao First
AR el Il aigd 2

(A) st fareary (B) HYSH HERS

(C) IS STSiRE (D) g S

2016

P.T.O.
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Bajirao First

Balaji Bajirao

fgd aed

SMBIST TSI

Sambhaji Maharaj
Venkoji

TS HeNS
RIS

Bajirao First
Madhavrao First

fed aed

(6 )
Find the odd one out :
(A) Balaji Vishwanath (B)
(C)  Chhatrapati Shahu (D)
forgmet Fhen -
(A)  wesrsit fogeg (B)
(C) =AYl IME (D)
Whose wife was Tarabai ?
(A)  Rajaram (B)
(C) Shivaji Maharaj (D)
IR | A G A b e o A o
A)  TSIH (B)
(C) frarsit wegrS (D)
Who became the Peshwa after Balaji Vishwanath ?
(A) Balaji Bajirao (B)
(C) Raghunathrao (D)
earSt foRramTama v Wl we ?
(A)  SearSit STSIE (B)
(C) gHa (D)

Third Battle of Panipat took place on .......

(A)  14th Jan., 1761 (B)
(C)  14th Jan., 1750 (D)
tITﬁI'CIT'I% W % .................... q?_ﬁ s:né
(A) 14 SHard 1761 (B)
(C) 14 SHard 1750 (D)
Theory

HeeRa qfed

............... .

14th Jan., 1762
14th Jan., 1760

14 SRR 1762
14 STHaT 1760

Describe the achievement of Chhatrapati Shahu.

A TN HMEARE qUE H
Or
(fenam)

Evaluate the achievement of Bajirao First.

qfgeal STSier=a SHMAMRE AT .
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2. Explain the effects of Third Battle of Panipat. 10
g fae=n o= oM ' .
Or
(fenam)

Write the causes of decline of Maratha empire.

TSl T gt SR ol
3. Write short notes on (any two) : 10
(@) Balaji Vishwanath
(11) Architecture in Maratha period
(zii)  Balaji Bajirao
(iv) Madhavrao First.
dresa fear fegr (Foer gF)
G) et foey
(i)  HUSHGH TIH
(i) — SSBIS STSRE
(v) UEIS HIFERE.
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